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Q)Ifx’ +13 +22=3(1 +x12), P=y+z—x,0=z+x—yand
R = x + y — z, then what 1s

the w.-'aluve of
P’ + O’ + R~ 3POR?
(@A) 9 (b) 8 (¢) 12 (d) 6
3
Coprat = 31k PP+ R~ 3POK
3, % 3(_ X
O‘ZDjK:T) /\ID:"Z, "23—{-2 2 ( X)(l)()
B 3 3 3
) 1° £31 = 41
‘ngLO% = 3+ @*IL
=4 O) R~ - 4(3) :@
-8 _
\ |

EEEEE



CDS 2 2024 - REVISION - MATHS - CLASS 11

EXAMS

Q)Ifx’ +13 +22=3(1 +x12), P=y+z—x,0=z+x—yand

R = x + y — z, then what 1s the value of
P’ + O’ + R~ 3POR?
(a) 9 (b) 8 (¢) 12 (d) 6

Ans: (c)
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Q) The value of & for which
Xx+2y+7=0
2x+ky+14=0

GJZ'/—LAUV’TCO? 2D

and represent coincident lines 1s
@ 3 (b) 4
(c) 4 d -3
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Q) The value of & for which

Xx+2y+7=0

2x+ky+14=0
and represent coincident lines 1s
@ 3 (b) 4
(c) 4 (d -3

Ans: (b)
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EXAMS

Q) Tanya’s grandfather was 8 times older to her 16 years ago.
He would be 3 times of her age after 8 years from now. Eight
years ago, what was the ratio of Tanya’s age to that of her

grandfather? 3 ( 114 t{) - fx 42y
@ 1:2 (b) 1:5 - S - Yg
(c) 3:8 (d) None of these 1 = 18 ’? * —‘;);‘:"
X1+8 — —
— o 4l el : ey H)
b Ho +6 1 ’

§ dw” — b t§
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Q) Tanya’s grandfather was 8 times older to her 16 years ago.
He would be 3 times of her age after 8 years from now. Eight

years ago, what was the ratio of Tanya’s age to that of her
grandfather?

@ 1:2 (by 1:5
(¢c) 3:8 (d) None of these

Ans: (d)
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1
QIfx+ — = /3, then the value of x!8 + x!2 +x°+ 1 is
X —

@ O (b) 1 (c) 2 d) 3
(w,L)S - 33 x ( é—H) T/ (%51‘!)
V8
1t B(XJr_xL) :3\/?; (%IZHJ(Z 'H)
%B

(1241 2 ( -i—g)
o>+l - 03 —3/2 _ -
23
- 0
Ing,/_ -0 —
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Q) Ifx+ - = /3 , then the value of x18+x12+x6+11s
@ 0 (b) 1 (©) 2 (d 3

Ans: (a)
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QIf x*+y°+z° =xy+yx+zx, then the value of

3x* +7y* +52° TN

7 9 1S
Sx“yT + 7}/222 +32°x7

@ 1 (b) 2 © -1 (@ 0

1272”.2 = Otdff-fz/-u > (x{i)l% (&‘—Z) l_/_ (wa)z _ 1
X =0 / deﬁzzo /(:_2,_10

3%”91”‘517 ~ 5,/_9,_/_5\

e X=g =R

—

-—-—_-___———-‘:,

St + Pt +31) 54343 -~
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Q)If x2+y2+22:xy+yx—:—zx, then the wvalue of

3x* + 7y +52°

2.2 2 2 > 2 1S
Sx“y +7Ty"z" +3z°x"

@ 1 (b) 2 © -1 (@ 0

Ans: (a)
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Q)If xm =0, then the value of X3! +y3° is

@ -1 (b) 0 (€ 1 d 2
(H/)Udﬂ: D (.,./)3/ (o)
= (H—f) =0 ) X =~ > -
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Q)If x? +y*+2x + 1 =0, then the value of x3! +y3 is

@ -1 (b) 0 ©) 1 (d 2

Ans: (a)
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|

Q)Ifx*+ " 119 amd x > 1, then the value of x> — — is
X
@ 54 (b) I8 © 7 (@ 36
i 4
I 1- LYy -3[v-L
(HZ) 9= 119 ( 1) ( z)
L / ~ s 3_' 3 9
vt L /] (3) (3)
2 - -9
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Q)Ifx*+ — =119 amd x > 1, then the value of x> —
X

@) 4 b) 18 © 72 @ 36

Ans: (b)

1 .
— 18
X3
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9

1 1
Q)If x——=—. then what is 9x* +— is equal to?
x 3 2
(a) 18 (b) 19
(c) 20 (d) 21

(N A
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1
Q)If x—— =

X

(a) 18
(c) 20

Ans: (b)

1
3

. then what 1s 9x% +

(b) 19
(d) 21

9 .
— 18 equal to?

X
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Q)lf p =999, then the value of z’/p(pz +3p+3)+1 18
(@) 1000 (b) 999 (c) 998 (d) 1002
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Q)lf p =999, then the value of %/p(pz +3p+3)+1 18
(@) 1000 (b) 999 (c) 998 (d) 1002

Ans: (a)
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QIf 242x° - 3\/§y3 = (\2x— \@y) (Ax? + By? + Cxy), then the
value of 42 + B% — (2 is:
(a) 11 (b) 7 (¢) 19 (d) 10
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QIf 242x° - 3\/§y3 = (\2x— \/gy) (4x* + By? + Cxy), then the
value of 42 + B% — (2 is:
(@) 11 (b) 7 (c) 19 (d) 10

Ans: (b)
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Q)If the roots of the equation
(a® + b?) x% — 2(ac + bd)x + (c¢* + d?) = 0 are equal, then
which of the following is true?

(@) ab=-cd (b) ad=bc
() ad:@ (d) ab:\/a
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Q)If the roots of the equation
(a® + b?) x% — 2(ac + bd)x + (c¢* + d?) = 0 are equal, then
which of the following is true?

(@) ab=-cd (b) ad=bc
() ad:@ (d) ab:\/a

Ans: (b)
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Q)What is the value of

725x725%x725+371x371x371
725%x 725 —-725%371+371x371

(@ 9610 (b) 1960
(c) 1096 (d 1016
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Q)What is the value of

725x725%x725+371x371x371
725%x 725 —-725%371+371x371

(@ 9610 (b) 1960
(c) 1096 (d 1016

Ans: (c)
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26

Q) If the sum of a real number and its reciprocal 1s —, then

how many such numbers are possible?
(a) None (b) One (¢) Two

5
(d) Four



CDS 2 2024 - REVISION - MATHS - CLASS 11

Q) If the sum of a real number and its reciprocal 1s
how many such numbers are possible?

26

< then

(a) None (b) One (¢) Two (d) Four

Ans: (d)
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Q) My brother 1s 3 years elder to me. My father was 28 years of
age when my sister was born while mymother was 26 years
of age when I was born. If my sister was 4 years of age
when my brother was born, then, what was the age of my
father and mother respectively when my brother was born?
(@) 32yrs,23 yrs (b) 32yrs,29 yrs
(c) 35yrs, 29 vyrs (d) 35yrs,33 vyrs
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Q) My brother 1s 3 years elder to me. My father was 28 years of
age when my sister was born while my mother was 26 years
of age when I was born. If my sister was 4 years of age
when my brother was born, then, what was the age of my
father and mother respectively when my brother was born?
(@) 32yrs,23 yrs (b) 32yrs,29 yrs
(c) 35yrs, 29 vyrs (d) 35yrs,33 vyrs

Ans: (a)
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Q) Consider the following statements :
1  The equation 1990x — 173y = 11 has no solution in
integers for x and y.
2.  The equation 3x — 12y = 7 has no solution 1n
integers for x and y.
Which of the above statements 1s/are correct?

(@) 1 only (b) 2 only
(¢) Both 1 and 2 (d) Neither 1 nor 2
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Q) Consider the following statements :
1  The equation 1990x — 173y = 11 has no solution in
integers for x and y.
2.  The equation 3x — 12y = 7 has no solution 1n
integers for x and y.
Which of the above statements 1s/are correct?

(@) 1 only (b) 2 only
(¢) Both 1 and 2 (d) Neither 1 nor 2

Ans: (c)
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Q) Ten chairs and six tables together cost ¥ 6200, three
chairs and two tables together cost ¥ 1900. The cost of
4 chairs and 5 tables 1s
(a) I3000 (b) I3300
(c) 3500 (d) I3800
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Q) Ten chairs and six tables together cost ¥ 6200, three
chairs and two tables together cost ¥ 1900. The cost of
4 chairs and 5 tables 1s
(a) I3000 (b) I3300
(c) 3500 (d) I3800

Ans: (a)
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Sx -2y =10

@i=]

v

1 2.3 4
The linear inequations, for which the shaded area in the

figure given above 1s the solution set, are
(a) 2x+6y<2l,5x—2y<10
(b) 2x+6y<21,5x—-2y>10
(¢) 2x+6y>21,5x-2y<10
(d) 2x+6y>21,5x-2y>10



CDS 2 2024 - REVISION - MATHS - CLASS 11

Sx -2y =10

v

1 2.3 4
The linear inequations, for which the shaded area in the

figure given above 1s the solution set, are
(a) 2x+6y<2l,5x—2y<10
(b) 2x+6y<21,5x—-2y>10
(¢) 2x+6y>21,5x-2y<10
(d) 2x+6y>21,5x-2y>10

Ans: (a)

@i=]

EXAMS



CDS 2 2024 - REVISION - MATHS - CLASS 11

Q) There are three brothers. The sums of ages of two of them
at atime are 4 years, 6 years and 8 years. The age difference
between the eldest and the youngest is
(a) 3 years (b) 4 years
(¢) S years (d) 6 years
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Q) There are three brothers. The sums of ages of two of them
at atime are 4 years, 6 years and 8 years. The age difference
between the eldest and the youngest is
(a) 3 years (b) 4 years
(¢) S years (d) 6 years

Ans: (b)
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Q)Ifx+y+z=11.x’+y? +z2=133 and x> +1° + 23 =881, then

the value of 3/XV7 is:

(a) -6 (b) 6 (c) -8 @ 8
g a Wf__’fs N 3@‘7 - (%77‘%_)(%272% Kz-w%)f

I
(t342)" = 2rpteat+ 4[77”,(1) pe/ - %47 = (1)

- 48 - /54
(//)Z - 83 F O?(ZOHJ;( ,cxx) 5{072 : /3 Z

/A zdz»;-—_(,j}_’ _~3/6 73 (i gl
3

{2 14229 =6

183 fé)
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Q)Ifx+y+z=11.x’+y? +z2=133 and x> +1° + 23 =881, then

3 - :
the value of A/ XV= 1s:

(@) -6 (b) 6 (c) -8 (d) 8

Ans: (a)
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Q)If o and B are the roots of the equation x>~ 6x+ 6 =0, i "/”’/B = b
what is o + [33 + o + [32 + o + P equal to?
- — 0(/8 A

(@) 150 ) (b) 138

(c) 138 d) 124

[(o(+/9)3__ 3(0(79)@]%0”/9)2_ I )] , (W})
/69_ 3X6X6 4 ((W*a?)%)/f ﬁ

> Jlg ~1081 362 +}

—_—
—
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Q)If o and p are the roots of the equation x* — 6x + 6 = 0,
what is o + B> + o + B> + o + B equal to?

(a) 150 (b) 138
(c) 138 () 124

Ans: (b)
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EEEEE

Q)Ifx x,x; =4(4 +x, +x,+x;), then what is the value of
[1/(2+x)] +[1/2 +x,)] + [1/(2 +x5)]?

@1 12 (©2 (@ 13
L = A(hrnen th)

RENEING B Lo 3”’5’ - ﬁﬁ
3ry Ay At —
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Q)Ifx x,x; =4(4 +x, +x,+x;), then what is the value of
[1/(2+x)] +[1/2 +x,)] + [1/(2 +x5)]?

@) 1 b) 12 (c) 2 d 13

Ans: (b)
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QIfP=7+ 4+/3 and PO = 1, then what is the value of
1/P* +1/0%?

@) 196  (b) 194 © 206 (d) 182
- _f_ = -; = 7- 09‘[“9:
P s

(J-c/ﬁ)zq-ﬁ(%f/ﬁ)?’
3(%21(‘/‘/3)7
> (3 46) = A = 1y
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QIfP=7+ 4+/3 and PO = 1, then what is the value of
1/P*+1/0%
(@) 196 (b) 194 () 206 (d) 182

Ans: (b)
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Q)If 0. and B are the roots of equation x% —x + 1 =0, then which
equation will have roots o> and °?

@ x*2x+1=0 (b) x>~2x—1=0
(c) x*+3x-1=0 (d) x*~3x+1=0
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Q)If 0. and B are the roots of equation x% —x + 1 =0, then which
equation will have roots o> and B°?

@ x*2x+1=0 (b) x>~2x—1=0
(c) x*+3x-1=0 (d) x*~3x+1=0

Ans: (a)
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Q)If(a+b):(b+c):(cta)=7:6:5anda+b+c=27, then what

will be the value of l :

1.
a b
(a) 3:6:4 (b) 3:2:4 (c) 4:3:6(d) 3:4:2

Lo
C
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Q)If(a+b):(b+c):(cta)=7:6:5anda+b+c=27, then what

will be the value of l :

1.
a b
(a) 3:6:4 (b) 3:2:4 (c) 4:3:6(d) 3:4:2

Lo
C

Ans: (c)
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Q)Ifx +y +z=0, then what is the value of (3y* + x? + z%)/(2)?
—x2)?

@) 2 b) 1 © 32 (@ 573
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Q)Ifx +y +z=0, then what is the value of (3y* + x? + z%)/(2)?
—x2)?

@) 2 b) 1 © 32 (@ 53

Ans: (a)
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Q)f a? + b2 + 2 + 96 =8(a + b —2¢), then Vab—bc+ca is
equal to:

@ 6 (b) 242 ) 4 @ 2.3
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Q)f a? + b2 + 2 + 96 =8(a + b —2¢), then Vab—bc+ca is
equal to:

@ 6 (b) 242 ) 4 @ 2.3

Ans: (c)
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Q)1f \/ SG—GO\E = qa - b\E , then what will be the value

) .
of \/ a’ +b° , correct to one decimal place?

@ 84  (b) 82 © 78 (@) 72
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Q)1f \/ SG—GO\E = a - b\E , then what will be the value

) .
of \/ a’ +b° , correct to one decimal place?

@ 84  (b) 82 © 78 (@) 72

Ans: (c)
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Q)lfx=11.thevalueof x> — 12x*+ 12x3 — 12x* + 12x — | 18

(a) 11 (b) 10 (c) 12 (d) —10
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Q)lfx=11.thevalueof x> — 12x*+ 12x3 — 12x* + 12x — | 18

(a) 11 (b) 10 (c) 12 (d) —10

Ans: (b)
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1

1 1
Q)If a +E = b+; =C +E (wherea = b =c), then abcisequal to

(@) +1 (b) -1
(c) +l1&-1 (d) None of the options
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1 1 1
Q)If a +E=b+g= C+g (wherea = b =c), then abc 1sequal to

(@) +1 (b) -1
(c) +l1&-1 (d) None of the options

Ans: (c)
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QIf x_/3_2=0 and };—\/5+\/§:0 then value of

X —2082)— (37 +242)
@ 3 (b) 2 © 0 d 1
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QIf x_/3_2=0 and };—\/5+\/§:0 then value of

X —2082)— (37 +242)
@ 3 (b) 2 © 0 d 1

Ans: (c)
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Q)Ifa +b+ ¢+ d=4then the value of
| . |
(=) (1-b)(1—<) (1-b)(1-c)(1-d)

1 |
(1-o)(1-d)(1-a) (1-d)(1-a)(1-b)

_I_

(a) 0 (b) 1 (c) 4 (d) 1+abed
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Q)Ifa +b+ ¢+ d=4then the value of
| . |
(=) (1-b)(1—<) (1-b)(1-c)(1-d)

i l
(1_‘3)(1—(31)(1—«21)Jr (1-d)(1-a)(1-b) &

_I_

(a) 0 (b) 1 (c) 4 (d) 1+abed

Ans: (a)
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Q)If (x* — ) : (x* +xp+y?)=5:1and

(x* - f) :(x—y)=7:1, then the ratio 2x : 3y equals

@ 2:3 (b) 4:1 (¢) 4:3 (d) 3:2
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Q)If (x* — ) : (x* +xp+y?)=5:1and

(x* - f) :(x—y)=7:1, then the ratio 2x : 3y equals

@ 2:3 (b) 4:1 (¢) 4:3 (d) 3:2

Ans: (b)
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Q) What fraction 1s that whose numerator being doubled and

2
denominator increased by 7, the value becomes —, but
D

when the denominator being doubled, and the numerator

-

J
increased by 2, the value becomes g?

(@) 3/5 ®) 45 () 5/7 @ 711



CDS 2 2024 - REVISION - MATHS - CLASS 11

Q) What fraction 1s that whose numerator being doubled and

2
denominator increased by 7, the value becomes —, but
D

when the denominator being doubled, and the numerator

-

J
increased by 2, the value becomes g?

(@) 3/5 ®) 45 () 5/7 @ 711

Ans: (b)
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2
Q) Farah got married 8 years ago. Today her age is 17 times

her age at the time of her marriage. At present her daughter’s
age 1s one-sixth of her age. What was her daughter’s age 3
years ago?

(@) 6 years (b) 4 years

(¢) 3 years (d) None of these
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2
Q) Farah got married 8 years ago. Today her age is 17 times

her age at the time of her marriage. At present her daughter’s
age 1s one-sixth of her age. What was her daughter’s age 3
years ago?

(@) 6 years (b) 4 years

(¢) 3 years (d) None of these

Ans: (c)
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Q)If x, v, z are the three factors of a°> — 7a — 6, then value of
x+y+zwillbe

(@) 3a (b) 3 (¢c) 6 (d) a
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Q)If x, v, z are the three factors of a°> — 7a — 6, then value of
x+y+zwillbe

(@) 3a (b) 3 (¢c) 6 (d) a

Ans: (a)
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QIf x=a">+a™"?, y=a"*-a7/?

(< =x*y* =D+ —x*y* +1)

, then value of

(@) 16 b) 14 © 12 @ 13
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QIf x=a"?+a7"2, y= a2 g7V

(< =x*y* =D+ —x*y* +1)

, then value of

(@) 16 b) 14 © 12 @ 13

Ans: (a)
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Q) Ifa + h=1, find the value of &> + 4’ —azb—(ax2 —bz)2

(@ 0 (b) 1 © -1 @ 2
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EEEEE

Q) Ifa + bh=1, find the value of ¢* +b° —ab —(a* —b*)?

(@ 0 (b) 1 © -1 @ 2

Ans: (a)
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Q)If Bx-2y):(2x+3y)=5:6, then one of value of

L
%/;_%/; 1S

1 1
@23 O3 @ © 5 @:3
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Q)If Bx-2y):(2x+3y)=5:6, then one of value of

L
‘%/;_%/; 1S

1 1
@23 O3 @ © 5 @:3

Ans: (a)
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Q)Iftan 6 = 2, then 35?119—4(:089 is equal to:
3 3sm B+ 4cosb
| 2 2
- ‘ ) -2
(a) 3 (b) 3 (©) ; (d)
3o~ 4 3ms —
(oS0 -
' — 3ty + v
35mp 71_17

Cod0

{7

W | —
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3sm0— .
Q)Iftan 6= 2 then S%ne 4eoosb is equal to:
3 3sim0O+4cosO
1 2 1
_= < Yy 2 @ =
(a) ; b) ; (c) ; (d) ;

Ans: (a)
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Q)If sin 6 = /3 cos 0, 0° < O < 90°. then the value of

2 sin? 0 + sec?0 + sin0 secO + cosech is:
sin? 0 + + sin@ sech + o?(_?_)-ﬁ'?j—(__‘[&)(«?)%i
/ 3 V3

@ 33+éo\/§ ) 19+éo\/§
SRR
EA

© 33+;0\/§ @ 19+;o\/§ 2 7

Iin6 = \JZews | Smb = V3 4m [f/o"-f) :?ﬁ r’@w
ﬁ N

0 = 4o°
60 b+if3 _ 83+10f3

3 b

_—
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Q)If sin 6 = /3 cos 0, 0° < O < 90°. then the value of
2 sin? O + sec?0 + sind secO + cosech is:

@ 33+éo\/§ ) 19+20\/§
© 33+;0\/§ @ 19+;o\/3_

Ans: (a)
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Q) What 1s the value of
[ 4c0s(90 — 4)sin3 (90 + 4) |-

' 4sin(90 + A) cos® (90 — A) |

[180+8A)
COS

2

(@ 1 (b) -1 (©) 0 (d 2

jﬂ/@nﬁ 03) — Heoth siP A~ A wsh (WQA 'g;”lA)__
(oS f dp 7“1//}) = Sin4
= qSmAA W82 -
—35m4A ot 2A
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Q) What 1s the value of

 4¢0s(90 — A)sin® (90 + 4) |-
4 L -

 4sin(90 + A)cos® (90 — A)

(180 + SA)
COS 5

@ 1 (b) -1 () 0 (d 2

Ans: (b)
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/Q)If the sides of a triangle are 6¢cm, 10cm and 14 cm, then what
/

is the largest angle included by the sides?
(@) 90°« (b) 120°
(c) 135° (d) 150°
Coch = b5+ - 0}_{_
& /4 (ﬂ) b
r J ) )
(b) 3% 6 X0
[0
G wip L=y
/40 R

4 = fZ@O/
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Q)Ifthe sides of a triangle are 6cm, 10cm and 14 ¢m, then what
is the largest angle included by the sides?

(@) 90° (b) 120°
(c) 135° (d) 150°

Ans: (b)
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Q)If (sin x + cosec x)* + (cos x + sec x)*

= k + tan® x + cot? x,
then what 1s the value of k¢

(a) 8 () 7
(c) 4 d) 3

Sl £ cose’t +Q 4 el Sec'x +

[+ otec’r + Secta +Y

41+ wfx + [+ Tan'x
Y+ ofr + fon't

—
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Q)If (sin x + cosec x)* + (cos x + sec x)*

= k + tan? x + cot® x,
then what 1s the value of k?
(a) 8 (b) 7
(c) 4 (d) 3

Ans: (b)



CDS 2 2024 - REVISION - MATHS - CLASS 11

Q)Let 0<x <% then (sec2x — tan2x) equals

[— smox
(a) ta“["‘"%] (b) tan[%-x] o0 )
T ey
|+ Tan*x
;7(“1—/ -
[+ Tanz [+ e
- (/fy‘moﬂc)L . [~z
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Q)Let 0<x< % then (sec2x — tan2x) equals

(a) tan[x—i] (b) tan(ﬂ—x]
1 1

(¢) tan(x+%) (d) tanz(x+%]

Ans: (b)
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Q)If cos 8 + sec O = k, then what is the value of sin® 0 — tan® 07

@ 4-k (B 4—K (o) k-4 (@ KF+2
—

(t) /=S + [+ 1w + 8-V
() -0 F1+ TG EI 49
) 4— oo - gelp -2

g — |+ sinto —/ — Tan'd

g’y - fan's

e

—
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Q)If cos O + sec © =k, then what is the value of sin” O — tan® 07
(@ 4-k (B 4-k () KF-4 @ K+2

Ans: (b)
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Q)Ifsin O + cos 8 = +/2, then what is
sin® O + cos® B + 6 sin“0 cos” O equal to?

@5 B> @1 @ 7
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Q)Ifsin O + cos 8 = +/2, then what is
sin® O + cos® B + 6 sin“0 cos” O equal to?

@5 B> O @ 7

Ans: (d)
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- sin®@—cos® 6
Q)What 15 — Ss— equal to?
sm-6—cos™ 6
(@) sin®® — cos® O ®) 1 — sin’®6 cos® 0
(©) 1+ sin® 0 cos® O (d 1 - 3sin® B.cos” 6
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sin® @ —cos® 6

Q)What 15 — Ss— equal to?
sm- 6 —cos” 6
(@) sin®® — cos® O ®) 1 — sin’®6 cos® 0
(©) 1+ sin® 0 cos® O (d 1 - 3sin® B.cos” 6

Ans: (b)
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Q)If secH —cosecH = % then what is (sin© — cos9)
equal to
(a) Only -2 (b) Only %

(c) Both -2 and (d) Neither % nor -2

2
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Q)If secH —cosecH = g then what is (sin©® — cos0)

equal to
(&) Only -2 (b) Only %
(c) Both -2 and % (d) Neither% nor -2

Ans: (c)



CDS 2 2024 - REVISION - MATHS - CLASS 11

Q)The value of cot(45° + 0) cot (45° — 0) 1s
(a) -1 (b) O ) 1 (d) o
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Q)The value of cot(45° + 0) cot (45° — 0) 1s
(a) -1 (b) O ) 1 (d) o

Ans: (c)
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. 2 2
Q) What 1s the value of 1_.2fm 60048 - + 4 equal to?
sin” O+cos” O

(@ 0 (b) 1 (c) 2 (d) 5
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. 2 2
Q) What 1s the value of 1_.2fm 60048 - + 4 equal to?
sin” O+cos” O

(@ O (b) 1 (c) 2 (d) 5

Ans: (d)
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cos> 20° — cos® 70° _
3 3 1S

sin” 70° —sim~ 20°

1 1
@ 5 O 7 ©!

Q)The value of

@) 2
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cos> 20° — cos® 70° _
3 3 1S

sin” 70° —sim~ 20°

1 1
@ 5 O 7 ©!

Q)The value of

Ans: (c)

@) 2
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Q)Ifthe angles of a triangle are 30° and 45° and the included
side 1s (\/g + 1) cm, then what 1s the area of the triangle ?

(a) (\/5 -I-I) cm? (b) (\/54'3) cm?

(©) %(\B-l-l) cm? (d) 2(\/§+1) cm?
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Q)Ifthe angles of a triangle are 30° and 45° and the included
side 1s (\/g + 1) cm, then what 1s the area of the triangle ?

(a) (\/5 -I-I) cm? (b) (\/5'*'3) cm?

(©) %(\B-l-l) cm? (d) 2(\/§+1) cm?

Ans: (c)
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Q) Consider the following :

cos A s A

_|_
I-tanA4 1-cotA
2. (1- sinA— cosA)? = 2(1-sinA) (1 + cosA)
Which of the above is/are identity/identities?

(@) 1 only (b) 2 only
(¢) Both 1 and 2 (d) Neither 1 nor 2

—=cosA+sinA

L.



CDS 2 2024 - REVISION - MATHS - CLASS 11

Q) Consider the following :

cos A s A

_|_
I-tanA4 1-cotA
2. (1- sinA— cosA)? = 2(1-sinA) (1 + cosA)
Which of the above is/are identity/identities?

(@) 1 only (b) 2 only
(¢) Both 1 and 2 (d) Neither 1 nor 2

—=cosA+sinA

L.

Ans: (c)
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T
Q) If o and B are positive angles such that oo + B = 1 then

what 1s (1 + tan o) (1 + tan ) equal to?

@ 0 (b) 1
(c) 2 d) 3
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T
Q) If o and B are positive angles such that oo + B = 1 then

what 1s (1 + tan o) (1 + tan ) equal to?

@ O (b) 1
(c) 2 (d) 3

Ans: (c)
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Q)If2 cos®x + 3sinx — 3= 0, 0<x<180° the value of xis

(a) 30°,90°,150° (b) 60°,120°,180°
(©) 0°,30°,150° d) 45°,90°,135°



CDS 2 2024 - REVISION - MATHS - CLASS 11

Q)If2 cos®x + 3sinx — 3= 0, 0<x<180° the value of xis

(a) 30°,90°,150° (b) 60°,120°,180°
(©) 0°,30°,150° d) 45°,90°,135°

Ans: (b)
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Q)If cosec 0 — sin O = p° and sec 6 — cos 0 = ¢°, then what is
the value of tan 67

P 9 2 2
(@) p (b) P (¢) pq (d) pq
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Q)If cosec 0 — sin O = p° and sec 6 — cos 0 = ¢°, then what is

the value of tan 67
)%

P 9 2 2
(@) p (b) P (¢) pq (d) pq

Ans: (b)
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Q) From an aeroplane flying about a
river at an altitude of 1200 m, it is
observed that the angles of
depression of opposite points on the
two banks of a river are 30° and 6. If
the width of the river is 3000 m, then
which one of the following is
correct ?

(a) B < 30° (b) 30°< 6 < 45°
(€)45°<0< 60°  (d) 60°< 0< 90°
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Q) From an aeroplane flying about a
river at an altitude of 1200 m, it is
observed that the angles of
depression of opposite points on the
two banks of a river are 30° and 6. If
the width of the river is 3000 m, then
which one of the following is
correct ?

(a) B < 30° (b) 30°< 6 < 45°
(€)45°<0< 60°  (d) 60°< 0< 90°

Ans: (c)
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